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04 22X EE S 16,010 2,932 13,078
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01 AlR2t2|H 100 100 0
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201 LB A 53,230 50,650
01 AlR2r2|H 31,990 30,610
O=AEXA 72 20,0002 %158t Ax 122 3,600
OS201Aalb] 8,000 x4A!x 158 %122 5,760
Otz 100,000 * 12 1,200
OARR2 TN 50,000+ 122 600
OARSE $4H| 5,500
—=2AD| 2 500, 00024+ 1CH 500
—Z2IE $2 100, 0002 *2CH*50% 100
—=API 24 200,00021%58]%1CH 1,000
—ORIf EU(Ew
200,000 %53 x2CH 2,000
—TRIH EU(2)
200,0002 %53 *1CH 1,000
—PC 22 100, 0002 * 15CH*20% 300
—J|E+ ==2ld| 50,0002+ 122 600
OJIEL AFR2t2l8l 5,000 152122 900
O - =3 14,430
—23 60,0002 1Z*1162 6,960
—=3 30,00021*1&*249 7,470
02 2229 21,240 20,040
O2223 ¢ HAl 21,240
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